BERogE #1KRO)

_A_B _5_® __AsA
(1) 6L = omL

(2) 7dL = ocm?

(3) 8mL = om?3

(4) SmL = oL

(5) 4m3 = ocm?3
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HOB®mE K#EQ)

(1) 6L = 6000 mL
<fiFEn>

1L=1000mL

&£2T. 6x1000 = 6000mL

(2) 7dL = 700 cm3

<fRE>

1L=10dL. 1L=1000cm>% M T10dL=1000cm>
1dLI%1000+10=100cm?>

£2T. 7x100 = 700cm’>

(3) 8mL = 0.000008 m>

<fRE>

Im®> =I1mxIlmxIm
=100cm*x100cmx100cm
=1000000cm>

ImL=1cm3#Z D T. 1m31£1000000mL
+oT. 8+1000000 = 0.000008m3

(4) SmL = 0.005L
<S>

1L=1000mL

&£27T. 5+1000 = 0.005L

(5) 4m°> = 4000000 cm?>

<R3

Im> =1mxIlmxlm
=100cm*x100cmx=100cm
=1000000cm?>

£2T. 4x1000000 = 4000000cm>
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